
X CLASS                            TEST-3                                                                                      SOCIAL STUDIES    

MARKS : 40                                                                                                        (PAPER - I)                                                                                   TIME : 2.45 MIN. 

MARKS : 30                                                                                                             PART-A                                                                

          SECTION - I (Marks : 16) 

Notes : a) Write answers for 4 questions.                                                                                                                                                                     4 X 4 = 16  

              b) Each Question gives 4 marks. 

1. Identify and list arguments that would support or oppose use of groundwater in various contexts, such as agriculture, industry etc. 

(OR) 

     ͚Most ĐhildreŶ of ŵigraŶt faŵilies ďeĐoŵe drop-outs.͛ Do you agree with this stateŵeŶt ? Justify your answer. 

2. Observe the Bar graph and answer the questions given below. 

i. How many times the female number is recorded more than 935 ? 

ii. Which year has the least number of females ? 

iii. When was the sex ratio high ? 

iv. What was the sex ration in 2011 ?  

 

(OR) 

 Observe the given data and answer the following questions.  

i. In the population data given beside, are the numbers reported for every  

   deĐade ? If Ŷot whiĐh deĐade͛s data is Ŷot reported here ? 

ii. From which decade to which decade has the population increase been  

    the highest(in percentage)? 

iii. From which decade to which decade has the population increase been  

     the least ( in percentage) ? 

iv. What observations can you make about the changes in the absolute  

     populations size ? 

 

 

3. Make a list of challenges faced in the water resources in the Tungabhadra basin. Identify the solution of these problems. 

(OR) 

     List out the impacts on society if sex ration is too low or too high. 

4. Locate the following rivers in India Map. 

i. Brahmaputra 

ii. Narmada 

iii. Godavari 

iv. Kaveri 

 

 

 

 

 

  

Population of Visakhapatnam 

Year Population %chance 

1901 40,892  

1911 43,414 +6.2% 

1921 44,711 +3.0% 

1931 57,303 +28.2% 

1941 70,243 +22.6% 

1951 1,08,042 +53.8% 

1961 2,11,190 +95.5% 

1971 3,63,467 +72.1% 

1981 6,03,630 +66.1% 

1991 7,52,031 +24.6% 

2001 13,45,938 +78.97% 

2011 20,35,690 +51.2% 

 



(OR) 

Draw arrow lines from India to which the Indian professionals are migrating to Germany, Norway, Japan and Malaysia in recent times.. 

SECTION - II (Marks : 10) 

Notes : a) Write answers for 5 questions.                                                                                                                                                                      5 X 2 = 10                

          b) Each Question gives 2 marks. 

5. Delhi is the second biggest city in the country. Explain the reason for it. 

6. By using the date given in the Q.No. 2 plot the absolute population of Visakhapatnam on a Line Graph covering 1901-2011. 

7. What do you think of migrants across the border ? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8. Suggest remedial measure to prevent the formation of Urban Slums. 

9. Appreciate the efforts taken for water conservation in Hiware Bazar.   

SECTION - III (Marks : 4) 

Note:   a) Write your answer with 1 or 2 sentences.                                                                                                                                                    4 X 1 = 4 

              b) Each Question gives 1 mark. 

10. Why Himalayan rivers are called perennial rivers ?  

11. Who is called working population ? 

12. What are called Mega cities ? Give Examples. 

13. Give two countries names to which Unskilled and Semi-skilled workers are migrating. 

____________________________________________________________________________________________________________________ 

 

 

 

 

 

 

 

 

 

 

 



X CLASS                TEST-3                                                                       SOCIAL STUDIES    

MARKS : 10                                                                          (PART - B)                                                                       TIME : 30 MIN. 

Notes : a) Write correct answer in bracket.                                                                                                                20 X ½  = 10 

              b) Each Question gives ½  mark. 

              c) Erases, corrections are not considered. 

1. Density of population is calculated on the basis of                                                                                                       (           ) 

 i. Population                              ii. Area                                  iii. Percapita Income             iv. Natural Resources 

 A. i and iv                                   B. i and iii                              C. i and ii                                 D. ii and iii  

2. The state that has least sex ratio is                                                                                                                                  (           )            

 A. Haryana                                  B. Punjab                              C. Andhra Pradesh                D. Kerala 

3. Cause for changes in population                                                                                                                                      (           ) 

 A. births                                       B. deaths                              C. migrations                          D. All of these  

4. Which statement is correct                                                                                                                                               (           ) 

 i. The population density of India in the year 2011 was 362.  

 ii. The state with least density of population is Arunachal Pradesh (according to 2011 censes)  

 A. i, ii are true                             B. i, ii are false                     C. i is true and ii is false       D. i is false and ii is true 

5. Find the odd one                                                                                                                                                                 (           ) 

 A. Kolkata                                    B. Ahmadabad                     C. Hyderabad                         D. Chennai 

6. Find the one which is wrongly matched                                                                                                                         (           )  

 A. Indira Gandhi International Airport - Mumbai                B. Rajiv Gandhi International Airport - Hyderabad 

 C. Suvarnabhumi International Airport - Bangkok              D. Kempegowda International Airport - Bangalore 

7. To understand settlement, we need to look at these basic concepts                                                                       (           )   

 A. Site                                           B. Situation                          C. The history of the place   D. All the above 

8. Sugarcane cutting is a ____ migration.                                                                                                                           (           ) 

 A. Internal                                    B. International                  C. Seasonal                              D. None of these 

9. How do you decide the nativity of a person ?                                                                                                                (           )   

 A. Depending on the birth place                                            B. The regioŶ iŶ whiĐh oŶe resides ŵost of oŶe͛s life 

 C. Depending on the birth places of parents                       D. All the above 

10. The main reason for the migration of rural people is                                                                                                 (           ) 

 A. Faction politics exists in villages                                        B. Employment opportunities are less in villages                                     

 C. No problem exists to resist in towns                                D. All the above  

11. Migration are commonly occur from                                                                                                                             (          ) 

 A. Rural to rural                         B. Urban to urban               C. Rural to urban                   D. Urban to rural                                               

12. Match them correctly                                                                                                                                                       (           ) 

 i. Kopi -  a. 200-500 kopis        ii. Tyre - b. 50-100 kopis     iii. Gadi  -  c. conical hut 

 A. i-c, ii-b, iii-a                            B. i-b, ii-a, iii-c                      C. i-b, ii-c, iii-a                        D. i-c, ii-a, iii-b 

13. When did India introduce Emigration Act ?                                                                                                                 (           ) 

 A. 1981                                       B. 1982                                  C. 1983                                    D. 1984 

14. Migrant laborers spend more on                                                                                                                                   (           )   

 A. Land                                       B. Education                         C. Food                                    D. None of these 

15. Match the following                                                                                                                                                          (          ) 

 i. Savara                                   -  a. Mining sites in Odisha 

 ii. Women from Kerala          -  b. Fish processing (Maharastra) 

 iii. Munda and Santhal men -  c. Assam plantations 

 A. i-c, ii-a, iii-b                            B. i-a, ii-c, iii-b                      C. i-c, ii-b, iii-a                        D. i-a, ii-b, iii-c 

16. Nasik, Ahmadnagar, Pune, Satara, Sangli, Kolhapur and Sholapur are called in Western Maharashratra is   (           ) 

 A. Tobacco belt                          B. Wheat belt                      C. Golden belt                        D. Sugar belt 

17. Identify wrongly matched                                                                                                                                                (           )      

 i. Sandur     - Maharastra         ii. Kudremukh  - Iron ore   iii. Kolar   - Diamonds  

 A. i only                                      B. ii only                                C. iii only                                  D. All of these  

18. Find the odd one                                                                                                                                                               (           ) 

 A. Indus                                      B. Krishna                              C. Kaveri                                  D. Godavaro 

19. Which sentence is correct                                                                                                                                               (           ) 

 i. The Brahmaputra known as the Dihang in Tibet           ii. The Dibang and the Lohit are tributaries of Brahmaputra 

 A. i only                                      B. ii only                                C. i and ii are correct             D. i and ii are wrong 

20. Select the right match                                                                                                                                                      (           ) 

 i. Godavari  - a. Chattisghad    ii. Mahanadi  - b. Madhya Pradesh                                 iii. Narmada - c. Maharastra 

 A. i-a, ii-b, iii-c                            B. i-c, ii-a, iii-b                     C. i-a, ii-c, iii-b                        D. i-c, ii-b, iii-a 


